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- 1. This diagram represents a mixture of ethanol and oxygen in 4

the container after the ethanol and oxygen have reacted to form carbon ledee and water using the
key and the equation below. 7

CHeO + 30, > 2C0O; + 3H,0
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2. Methane gas (CH,) reacts with oxygen gas (0,) to produce carbon dioxide and water.
a. Write and balance an equation for this reaction.

Gt = 26, FRO Y

b. The diagram below represents a closed container of gasses after this reaction has taken place. Draw
the contents of the container before the reaction.
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- 3. The reaction of element X (0) with element Y (O) is o2 o 29
g - : ; u] o
represented in the diagram to the right. Which of the 5 0 -
equations best describes this reaction? 0. 0.0 % A
o
o
a. 3X+8Y > X3Y8
b. 3X+6Y 2> X3Ys LOOKS L!kéf '37< % 8\( = g
c. X+2Y2> XY, X\{ +2\(
d. 3X+8Y > 3XY, +2Y : 2
e.

X+Y > XY, SH\P\PL 2X+@Y >zs<\/ (’\N§L~LQ>
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4. 0.092 moles of iron filings are pl.acéd into a solution containing 0.158 mol of CuSO,. Assuming that
they react according to the balanced equation belowywhat is the limiting reactant?/ ow many moles
. : /

of Cu will be formed?

3 CuSO4(aq) + 2 Fe (s) = 3 Cu (s) + Fey(S04); (aq)
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5. One industrial process for making nitric acid begins with the reaction below. If 2.90 mol NHz and 3.75
mol O, are available, how many moles of each product are formed?
4 NH;+50; > 4 N0 +6H,0 L 4
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